
SPTA 

N5 Homework 

Quadratics 1 (A) 
Show all working – Calculator only required for Qu. 2 

       Marks 

1. Solve these quadratic equations algebraically. 

 a)  x(x – 4) = 0 (b) 5x2  15x = 0 

 c) x2 + 8x + 12 = 0 (d) 6x2  7x = 3  (9) 

 

2. Solve these quadratic equations, correct to 2 decimal places. 

 a)  3x2  3x 5 = 0 (b) 4x(x  2) = 7  (7) 

 

3. Use the discriminant to determine the nature of the roots of these quadratic equations. 

 a) x²  6x + 8 = 0 (b) 4x² + x + 5 = 2  (5) 

 

4. Find the solutions to all the quadratic equations in question 3 that can be solved. (3) 

 

5. The diagram below represents a garden’s lawn with length (x + 7) metres 

 and breadth (x + 3) metres. 

 

 

 

 

 

 

 

 a) Show that the area, A square metres, of the lawn is given by A = x2 + 10x + 21 (2) 

 

 b) The area of the lawn is 45m2.  Find the length and breadth of the lawn. 

       (4) 

 

  Total Marks: 30 
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